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 ٢J٦   אא א   א  ٥٠٠ ،
א٠}٠١ א٩٥،٢٠٠٦٠א

١٢٠Kאאאאא٠ ,٠٢K
א 

٢p=٢a [lap winding]     Za=٥٠٠      Ra=٠١}٠Ω      Rf=٩٥Ω     Pout=١٢٠٠٠=٦٠*٢٠٠W      VL=١٢٠ 
V           Φ=٠٢}٠ wb/pole                                     
Pout=VL*IL 
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٢J٤J٢J٣אאא(Compound excited generators)
،אאאאאאאאאאא

אאא א אא אא
אאאא،אא(cumulative compound )

א،אאא
אא(differential compound)K

א   א א    אא   ،א א 
אאא(short-shunt)،אאאאאאFא

אא   Eא אא  א   (long-shunt)א א ،


